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OStHEZ2 A ME2E 29 6,600
APNES= 700,000 2 x4 & 5,600
HI 42| Y| 1,000
MEYEDA 2H(EX) 60,550 63,670 N3,120
& 8,085
Al 52,465
307 2iz2to| A 60,550 60,550 0
& 8,085
Al 52,465
02 QIZ2FA AAIE E X 60,550 60,550 0




P A t
CHs 243
=3

el

X ZH
S =

miE=s(E=ni

0x

MET =

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OQUENSZE2IAMNY 60,550
A= 58,800
< 7,560
Al 51,240
2dl 1,400
< 420
Al 980
s 24| 350
< 105
Al 245
Pad FEIWA 29(EX) 10,140 10,140 0
< 3,020
Al 7,120
307 gl2tol & 10,140 10,140 0
< 3,020
Al 7,120
02 IS AHE L 10,140 10, 140 0
Ofad E=32ns 29 10,140
= 3,020
Al 7,120
MEHR £50 20(2%) 46,170 46,170 0
< 13,851
Al 32,319
307 glz2tol & 46,170 46,170 0
< 13,851
Al 32,319
02 IZtE M AHE X 46,170 46,170 0
QugHs sseld(Ex) 46,170
< 13,851
Al 32,319
ABZLHOISA NH(BXE) 306,850 220, 160 86,690
J| 214,795
< 46,028
Al 46,027
301 LA F 306,850 220, 160 86,690
J| 214,795
< 46,028
Al 46,027
01 AR 2Z A 53 306,850 220,160 86,690
OAZ=2E 0 8A A 306,850
J| 214,795
< 46,028
Al 46,027
HOHQUALZAFHOIS R 25,500 3,200 22,300
J| 17,850
< 3,825
Al 3,825




2N nEMs
3 s 243

& daHs |4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
301 LEHZ 25,500 3,200 22,300
J| 17,850
< 3,825
Al 3,825
01 MEI2EZE %06z 25,500 3,200 22,300
OFOMO AZX=2x 0l8A 25,500
J| 17,850
= 3,825
Al 3,825
M=&A HxEl & XA 5,029,570 2,258,619 2,770,951
< 225,000
Al 4,804,570
HsdAL 29 X 329,200 278,200 51,000
201 LBt 7,500 7,500 0
01 At 22l 7,500 7,500 0
OMSEAXNE SR =gl 3,000
OXM=la 222 M&E S 4,500
202 Odl 5,100 5,100 0
01 = LH 4 Hi 5,100 5,100 0
OMsEA FXI=2 5,100
301 LA F 1,600 1,600 0
09 HALAHIXI &3 1,600 1,600 0
OMS&AL AHEAS AR S 44
8,000& x50H 43| 1,600
307 21201 A 252,000 264,000 A 12,000
02 HAFAANFEE 252,000 264,000 A 12,000
O&=dd0ictEtHa 28 A& 10,000
Od=s Hz2d MEM=sUsa &8 N 6,000
o4& Fed=ds X& 4,000
O&F=E04Y dEXsia A 12,000
OHet=EUM=EHE & 200,000
Odet=Zedsta A 20,000
308 X EHH SOl A 63,000 0 63,000
07 IXNHHAR S = 63,000 0 63,000
02023 &= OFAIOtEHE & OtAH AT S 63,000
M=&A &0t 30,000 15,000 15,000
301 LEPEAZ 15,000 15,000 0
09 HALAHIXI &3 15,000 15,000 0
Od&d=a & EH9 M=z K& 15,000
307 21201 A 15,000 0 15,000
02 It HAMHEL 15,000 0 15,000




2N
X ZH -
L= B

el

SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&
Od= & T MUl FIHKE 15,000
H=EH X2 442,600 443,869 21,269
307 glz2+ol & 432,600 433,869 N 1,269
02 QIZtE M AHE X 40,000 10,000 30,000
OZ0Y s SSE WM 6,000
OMES3A Ald & U3l 4,000
Od2s 2 A M JISHA 30,000
03 QIZtHNHE2HHEX 392,600 423,869 A 31,269
Og&A M3 24X 297,000
OXe M=z 2 62,600
OXNgH=3& dAF2 33,000
402 BI2FX=01 M 10,000 10,000 0
01 U2 E2AILE X (KA ) 10,000 10,000 0
OFoHel M=ZHl XA 10,000
A X2 20,550 20,550 0
101 1Al 8,550 8,550 0
04 JIZtHNZ22HEE = 8,550 8,550 0
OdXEdE L MEUHE A KNI A2 8,550
201 LEr2A | 12,000 12,000 0
01 At 22l bl 3,000 3,000 0
O&= & dEMsUz 8= 3,000
03 &Ar2 Z I 9,000 9,000 0
OMS ALK 9,000
A=z FAUXNF L HALL B 154,000 154,000 0
202 044l 4,000 4,000 0
01 SLHOYI 4,000 4,000 0
O&Xlzd R 4,000
307 21201 A 160,000 160,000 0
02 B HYAEEX 150,000 150,000 0
OdXzd S & AL LIS 150,000
DZ2lotLE =H SE U 270,000 270,000 0
307 glz2tol & 270,000 270,000 0
02 HHFHANGEEX 270,000 270,000 0
OZR2IOLE =H S FIJlHal 270,000
S MBS U3 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
02 2 HAMAEE 20,000 20,000 0
O=H BI= EgdeU 2 20,000
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X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
307 212t01 & 6,000 6,000 0
02 DIZtZAAMEE X 6,000 6,000 0

OAMEI =23 6,000

AEI BHEQIEU S 8,000 8,000 0
307 212t01 & 8,000 8,000 0
02 Q2B AMAIEE =X 8,000 8,000 0

OAMZEI BHECE 3l 8,000

AEI HSF2US 8,000 8,000 0
307 QI2t0| ™ 8,000 8,000 0
02 DI2HE AAIEE X 8,000 8,000 0

OAIEI 53203 8,000

AEI sS32U 3 10,000 10,000 0
307 QI2t0| ™ 10,000 10,000 0
02 DIZtZAAMEE X 10,000 10,000 0

OAMEI s572U3 10,000

AMEI EHAZS 9,000 9,000 0
307 QI2t0| ™ 9,000 9,000 0
02 DIZtZAAMEE X 9,000 9,000 0

OAMZEU Xeldt253 EHA =S 9,000

AED HILIADE 7,000 7,000 0
307 QI2t01 ™ 7,000 7,000 0
02 DI2HEAAIEE X 7,000 7,000 0

OAEH 85 S35 HUA e 7,000

A& S U 7,000 7,000 0
307 QI2t0| ™ 7,000 7,000 0
02 DI2HEMAIEE X 7,000 7,000 0

OAIEI 28U 3 7,000

A& ZAH 3 5,000 5,000 0
307 212t01 & 5,000 5,000 0
02 DIZtZAAMEE X 5,000 5,000 0

OAMEI Z&UI 5,000

A&l EHAHE 2 CHE 6,000 6,000 0
307 QI2t0| & 6,000 6,000 0
02 DI2ZtZ AAMEE X 6,000 6,000 0

OYJAEI AU 6,000

SHRA MR M= 6,000 6,000 0

307 QI2t0| ™ 6,000 6,000 0
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g s 243
el MM OHE ¥ XS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 6,000 6,000 0
O AZMHAM=EHE 6,000
HUSZRHA Wzl 2 2 2,616,220 0 2,616,220
< 200,000
Al 2,416,220
201 L2l 551,900 0 551,900
01 At 22l 11,900 0 11,900
OZHE ASES(HY SAI 8) SxE
500,000 64 2 3,000
OZgNdE 2= 2H =235 7¢ 4,000
OFg ¥ 0of2t 22X S &H|
8,000& x6H 50 2,400
OF2HA Mzl 22 21 2¢
500,000 =571 & 2,500
03 A2 Z Hl 540,000 0 540,000
OE2HMA Mzl A HE A 540,000
202 oddl 4,320 0 4,320
01 = LH o4 4l 4,320 0 4,320
OE2HAE =& ot
120,000 6 & =61 = 4,320
307 glz2tol & 1,460,000 0 1,460,000
< 200,000
Al 1,260,000
02 It M AHEE 1,460,000 0 1,460,000
OXHAU=SERME JHzl & 23 1,460,000
< 200,000
Al 1,260,000
401 AIEHI L 20 600,000 0 600,000
01 A& tl 600,000 0 600,000
OZSHMA Mzl BINE A4 e 600,000
HBATZZY 29X 275,000 225,000 50,000
< 25,000
Al 250,000
307 gl2tol & 275,000 225,000 50,000
< 25,000
Al 250,000
02 PIZtE M AHE L 275,000 225,000 50,000
ONHBAZ=Z2EY 29 275,000
< 25,000
Al 250,000
AFZIR 29 536,465 473,330 63,135
< 30,000
Al 506,465
AHHIR(=Y) 2 NA(BX) 536,465 473,330 63,135
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2N
X ZH -
L= B

el

ey ER
HE 2435
AR 2Y

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 30,000
Al 506,465
201 LBH2E| 18,000 18,000 0
01 At 22l 8,400 8,400 0
Og=a 29 det+=EH| 700,000 1200 & 8,400
02 2324l 9,600 9,600 0
Ogl=a 29 23 MM 2 sts S 9,600
HIIes 350,000 1201 & 4,200
NHARS 350,000& 1200 & 4,200
IHUY RS 50,000& 1201 & 600
sdot+=ER23 50,0002 1200 & 600
301 LeHEBAF 513,965 455,330 58,635
< 30,000
Al 483,965
o=t - 2S2S243 513,965 455,330 58,635
OXNE2SIINT 29| 107,073
a0z 5,000, 000& 51 CH 2] 25,000
< 25,000
tHal= &l 4,000,000 *5JH CH 2 20,000
< 5,000
Al 15,000
H=S=Hl 50,0003 x6H 300
o W Sl H| 2,000,000& x13] 2,000
& X =&l 90,000& *7Z 20 23| 25,200
Il =l 700,000 +x7H +23| 9,800
g=4 =AXR
8,000 «2A x7H 18U x 1201 B 24,192
AZ XM B HIOL 83,000& 7 581
OHE2=ZIIR | 395,912
== 284,692
-5 1, ZX 1, d=
3,389, 190&«7H«120 & 284,692
g2+ 9,490
-5 1, ZX 1, 8=
3,389, 190& 73 x20%*23] 9,490
2 I3 1,320
- 79~104 50,0003 x 1 +12J4 & 600
- 10¥~144 60,0003 x 18 124 & 720
HHg A 140,000 7 H 1204 & 11,760
Ng ExH 15,300
- 2=, X 250,000 & x2H 1201 & 6,000
- d== 155,000 x5 1201 & 9,300
FEFOHYI 28,470




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-&= 1, IX 1, A=
3,389, 190& *60%*7H »23| 28,470
s 250,000& x7H =120 = 21,000
NEX==E 300,000& x2H 1204 & 7,200
=gl 170,000& 7 =120 = 14,280
IHE= 2,400
- B X 40,0002 »2H 1204 2 960
- AWM XA 20,0003 x1H * 1204 & 240
- SMXH 60,0003 x1E 124 & 720
- B&I=E 20,0002 »2H 1204 & 480
OXF2SFIIR 294l 10,980
EREBE Y 2UIA28E
915,000& x6H *23| 10,980
405 XHoHF S HI 4,500 0 4,500
01 et EZFH S 4,500 0 4,500
OXNF2SIINR &I+ 2Ll 4,500
ol o1 gtol =2 2,000,000 =1CH 2,000
=g 1,500, 0002 = 1CH 1,500
Mol AEIM 1,000, 000& = 1CH 1,000
=8M=I3 At 208,800 215,050 26,250
J| 160,000
Al 48,800
ZQHHSHEH 29  IFPUMHHASI|E 2=(E 208,800 215,050 26,250
%)
Il 160,000
Al 48,800
307 glz2+ol & 208,800 215,050 N6,250
J| 160,000
Al 48,800
02 IZtE M AHE X 208,800 215,050 N6,250
O=2HME100 g3 HMHLSHE 29 208,800
J| 160,000
Al 48,800
HMFIIBAIE &= 17,856,417 10,880,800 6,975,617
s 600,000
J| 3,510,000
< 84,000
Al 13,662,417
LRl ASEE S 2,798,808 2,000,000 798,808
401 AIEHI L 20 2,798,808 2,000,000 798,808
01 Al gl 2,792,930 1,992,800 800,130
Oal+2T AYA
2,798,807,000& *99.79% 2,792,930
03 A& =2 THHI 5,878 7,200 A1,322
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S MFIALE &5 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oa==gZ AHAY 2,798,807,000& *0.21% 5,878
Nelatd MES0C Sets SUEd 6,950,000 2,100,000 4,850,000
s 300,000
J| 1,700,000
Al 4,950,000
401 Al HIZ 2018 6,950,000 2,100,000 4,850,000
s 300,000
J| 1,700,000
Al 4,950,000
01 A& HI 6,932,625 2,092,440 4,840,185
OXlelstd M8 S0C Sgfet S4xd
6,950,000,000& *99.75% 6,932,625
s 300,000
J| 1,700,000
Al 4,932,625
03 Al S THHI 17,375 7,560 9,815
OXlelstd M8 50C Sgtet s4xd
6,950,000,000& *0.25% 17,375
MEAE =4 2 Fl 818,000 732,000 86,000
401 Al HIZ 2018 818,000 732,000 86,000
01 A& HI 815,858 729,189 86,669
ontseel M&E@II= &X 343,000
O0r==9 M7 HIJIEAIE &X
10,000, 0003 #2302~ x99. 28% 228,344
OZS3HSAE FHl 25,000,000& *98.92% 24,730
otrs=el MsAE FH
20,000,000& *98.92% 19,784
O &0 0l & 16,000
SE7E 22 & M2 &X 6,000
=& =502 MSAIE Bot8 Al 10,000
O 272 & HZ ALY 184,000
=8 d4F 2SIIF HIOIEBAME Sk 10,000
ol BEOS 23I17 HIHE AL 10,000
olg otR02 MHU=R = MEII7 &X 20,000
=5 SUHOIIE M&EI+ &X 20,000
s ERHZ HEIF X 10,000
[ mE= 86,000
- Z2X0t2 M&EIIF HIIHE X SAt 10,000
- SW29S (M) M7 B AR 10,000
- gu22s(ZA) MEJiT L HIotEAlE
=N 15,000
- Enors(&2) MEJIF L HIotEAIE
=N 15,000
- Sw2ssS(01s) MEJIF HIGHEAE &
N 10,000
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M DEHSH
3 s 243
Sl MIINEAIE =E

SA - ZE-B(EA) - NRAY - B S il &t o il
ONSANEE Aotacasz 16,000
OZZR2 2 MA 2,000
OLEZE3ILI (L8, ABS, MHI|&Q) 500
OHSAEES 82 U goigo(2g2HS2H
2,000,000& »23| 4,000
OzgzHSTH FF+ Yo
2,000,000& x13] 2,000
Ozg=dsa ALFYEZ 1,800,000& 23] 3,600
OANEHHIRA A2H(HEE, M= E) 2,500
OFg=MNsZd &A0UTE 24 2 5,000
Ozg=xdsa SXJ/2H A
2,500,000%27H £~ 5,000
OMESAAEE A&EHIRL 35,000
OFEeSHNE3H MI|LH FdodFEH
5,000,000& x13] 5,000
OXNZEAAE SWEI Fa 2,000,000 18 2,000
Ozg=lsa M= 4
2,000, 000% #2353 *20H A 8,000
OFsg=ls2 USHeANE M= A
1,500,000 * 13| *20H A 3,000
OEXNE BE& 750
ozsxg FFU 3,000
O=Ex& KA 1,000
OFg=xdsa ZII88 9|
3,000,000& »23| 6,000
OFs=NsE LASANE HHEEA
180, 0003 * 123 *4 4 2~ 8,640
OZ3SHEANE FIIEE 9 9,000
ORM3BAIEES 2H=A EH E9 7,100
202 oidl 7,000 7,000
01 = LH YI 7,000 7,000
OMsAE & |X2e 7,000
206 M= Hl 16,790 16,790
01 Mzl 16,790 16,790
OzFBHSTH S BZHASAL M2l 16,790
MBI 10000 22 100,000 * 1574 1,500
HEZ 2500 2 30,0002 x50 4 1,500
HE&Z 4000 = 50,000& %304 1,500
HEetE Il 2500 + & 30,0002 *30H 900
HECSHE Il 4000 - 50,000& 204 1,000
HE Al 10008 & 100,000& 104 1,000
ZHEX 2000 60,000& +70H 4,200
TEEX 2LHBEE 7Y 700,000& *2H 1,400
JIEF HIITHM 2 1,000
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HmES S
CHE gda
CHSIIBAE 25

5 - 4
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
Sgtlg #7¢ 15,000& *30XE 33| 1,350
H4E, 42H 2L 12,0003 x2E5 *15H x43| 1,440
401 Al HI R 201 I 10,000 120,000 A 110,000
01 A& Hl 9,892 118,884 A 108,992
Oz QEYY 0l AX
10,000, 000& *98.92% 9,892
03 AIE 2 0HHI 108 1,116 A 1,008
Oz QELY 0l &X
10,000,000& *1.08% 108
HMEAE =4 2 FH(EX) 84,000 0 84,000
= 84,000
401 AIEHI L 20HEI 84,000 0 84,000
< 84,000
01 A& Hl 84,000 0 84,000
o278 48T £X 20,000
< 20,000
Oodt=0ts M&Jl=7 € BIJHEAIE &X 14,000
< 14,000
Ogw S8 MEHIP L HIHSAE &X 50,000
< 50,000
HH ICHSHEH A A 3,000,000 0 3,000,000
J| 1,000,000
Al 2,000,000
401 Al HIZ 201 I 3,000,000 0 3,000,000
J| 1,000,000
Al 2,000,000
01 A& HI 2,989,200 0 2,989,200
Ot UMSHE A AL
3,000,000, 000& *99.64% 2,989,200
J| 1,000,000
Al 1,989,200
03 Al 2 THHI 10,800 0 10,800
Ot IMSHH HEASY
3,000,000,000& *0.36% 10,800
M M ZHAY 1,000,000 0 1,000,000
s 300,000
Al 700,000
401 A& HIZ 201 I 1,000,000 0 1,000,000
s 300,000
Al 700,000
01 A& Bl 993,700 0 993,700
OFd a2 =4
1,000,000, 000& *99.37% 993,700
s 300,000
Al 693,700
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C DSHSD
D HE 2H3
DA IIBAIA

I
O

= _ — d =
CHB - BI(BH) - NN - B 0l &t o il HImEET
03 AlE 2 THHI 6,300 6,300
OFd Mas=Zd =4
1,000,000,000& *0.63% 6,300
EAE ANE HEF=SA 1,200,000 1,200,000
Jl| 360,000
Al 840,000
401 Al HI K 201 I 1,200,000 1,200,000
J| 360,000
Al 840,000
01 A& HI 1,195,680 1,195,680
Od&d™ A4 HE=  1,200,000,000& x99.64% 1,195,680
J| 360,000
Al 835,680
03 A& =TI 4,320 4,320
OadE A4 HE= 1,200,000,000& *0.36% 4,320
g2 SSHSAE AL WHSA 200,000 200,000
J| 60,000
Al 140,000
401 AIEHI L 2CHEI 200,000 200,000
J| 60,000
Al 140,000
01 A& Bl 198,560 198,560
Odd B3HMsSAE AXA0 WA
200,000,000& *99.28% 198,560
J| 60,000
Al 138,560
03 A& 2 THHI 1,440 1,440
Odd ZB3HMSAE Ax&0 WX
200,000,000& *0.72% 1,440
S HUAZE HE =3 A 1,300,000 1,300,000
J| 390,000
Al 910,000
401 AIEHI L 20HYI 1,300,000 1,300,000
J| 390,000
Al 910,000
01 A& HI 1,295,320 1,295,320
28 HUAZE HE=>
1,300,000, 000& *99.64% 1,295,320
J| 390,000
Al 905,320
03 AIE 2 THHI 4,680 4,680
O2e HUAZE HE=S
1,300,000,000& *0.36% 4,680
Lol 51 && 206,400 25,600
< 55,000
Al 151,400
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A DAY
HH: Lol =X =X
Chel: AAB LOU=TAL X (el:de)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
28t CO=XAIE XS 206,400 212,000 A5,600
= 55,000
Al 151,400
HOIEEHE JlsEL 151,400 212,000 A 60,600
402 212t X 20| & 136,900 117,000 19,900
01 DI2FXI2AIE E X (XM THE ) 136,900 117,000 19,900
OFMH FMAHOESHR JIsEH 10,000
O2XH dAHEEH JIsEL 38,300
O2XH HOIEESHE JlsEd 2,000
OUAH AILAHOIEEH JIsEL 1,200
OUMH 2dHAAHOEEH JIsEL 3,000
OAIIH HOIE=ZE JIsELAMYE 8,000
OEYlH HOIEZE JIsEBdAMY 1,200
OBZEH HOESE JlsE22dAMY 13,000
OO0leh™H el HOoIE=E JIsEd 5,000
OO0l H HHAHOESHE JIsEH 2,000
O« HOIEZE JIsEZ 16,500
Ootg ™ HolE=ZE Jls:2d 6,000
=X HOIE=ZH JIsEd 27,700
OdttsH AMSHOE=ZH JlsE2Z 1,000
ONsH REEAHOEZH JIsEd 2,000
405 XH&HF S HI 14,500 13,000 1,500
01 AL 2B F SHI 14,500 13,000 1,500
O2ss HOEZSE dgI g
5,000,000& x24! 10,000
OZH L=SHOEEH JlsEL 4,500
HOEESH S22 (BX) 55,000 0 55,000
T 55,000
401 Al HI L 201 55,000 0 55,000
= 55,000
01 A& HI 55,000 0 55,000
O2SHOESE EZHSAH L RHBEIZ XA
& 55,000
< 55,000
HE 2 FY| 103, 165 97,512 5,653
= 44,440 44,410 30
= 44,440 44,410 30
201 LEt2 Y| 22,940 22,790 150
01 AFR2t2l Yl 22,940 22,790 150
Ogt2H| 18,000
OZ 2| 3,600
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A DAY
Hu: @A RY
erel: Jl= 2| (29 a8)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
OO A SXN=202 OANAANY Mosl 24
=g 70,000 x5H x 13| 350
OQusgddARAS HFA+Y9 70,0008 128 *13] 840
OB2RA(RIH) 22X Tl=Hl 150
202 O B 16,700 16,700 0
01 2L Y| 16,700 16,700 0
OnNEMI R=X04H| 16,700
203 PR =&Y| 4,800 4,920 N 120
04 B2 AALEAY| 4,800 4,920 A120
ORN2HLLETY| 4,800
ol 2 AY| 58,725 53,102 5,623
olE 2 (M) 58,725 53, 102 5,623
101 2124 4| 58,725 53,102 5,623
03 BLRAE(RIHX)22XE % 58,725 53, 102 5,623
oJNe3 2,509,840x 15 120 & 30,119
OFSFasg=] 2,509, 840% 1 x50%*23] 2,510
oY 125,000& *1H «12J4 & 1,500
O/ 100,000& * 1 % 12J4 & 1,200
O&z2+Y Itz 80,000& x1H x 121 & 960
ONELL (A 40,000« 1H %1204 & 480
OFHZ A 170,000 1H =120 & 2,040
OFEAMNNWS 2,509, 840* 1 x60%*23| 3,012
OAZ2t2l =g 22,923*13A1 2+ 19 =120 & 3,576
Osgd=aY 183,384%5 52 »1H « 1201 & 12,104
OH I8 AtY| 122,356 18 10 1,224
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